MEANELHHE - BBERVELNFLEE

Al 4

kg5 (BAAFS 2 HlEmg-TEQ/4F) )
TEI

WE WA, Je (N PR - B Jea (RSN HEH] B R
F 8 HEH R B XBER xR FhE [EZlES /NEE PEa: [ Efr
ol 5,362,665  7,498,409] 2,254,137] 3,043,449 1,235,576] 2,389,015] 8,922,177 14,284,842] -
1 #FROAKEMALE Y 48,719 211,427 2,643 6 2,649 51,368 28
2| 7 7UNTIR 0 1,060 5 5 5| 256
3 T ZUNEEET L 7,821 48,609 1,309 120 1,428 9,249 50
4| T IV B O DK IEPERE 144 1,906 79 79 223 156
5 T ZUNB2— (PAFILTI)) =F )L 0 0 1,309 120 1,428 1,428 95
6 7 ZUNB2— ¥ mF L 1 42 1 1 2| 268
1T IVIVER )V~ — T F )b 2,139 14,095 50 50 2,188 84
8 T ZUNBAF L 3,500 2 0 1,309 120 1,428 4,928 65
9 77Va=rL 7,620 26,203 0 809 809 8,429 52
10771 0 0 279 2,611 12,482 15,372 15,372 39
117V LT RID A 0 0 1 1 1] 282
12| 7'M VTR 6,422 2,300 972 1,224 14,351 76,474 93,021 99,443 20
13| 7Eh=RJ/L 1,839 162,018 975 63 1,038 2,877 75
14| 7®r ST JERY 0 0 -
15| 7875 0 0 -
162, 2" — 7Y 2LV T Fu=RJ)L 0 11 0 0 of 297
17 AN =T =P 0 0 -
18| 7=V 2 119 1 1 3| 261
19/1—73/—9, 10—T7 % /v 0 0 -
202—73/)xH)—)v 9,317 14,124 190,974 816 31,478 223,267 232,584 14
21\ 7ayx>y 0 0 -
22 747 a=)L 0 0 275 2 277 277|148
23\ /XT7 =T )T /)—)V 0 0 -
24 AR =T )7 =)=V 0 57 -
25 AN T 0 0 52 52 52| 195
26 3—73I/—1—F -~ 0 0 -
27 AHIbmy 0 0 -
28 TULT La— L 136 678 136| 170
— 1 S — \" N .
29 10‘ TINAFY —2, 3—TRFT 7R 0 0 6 6 6l 250
NS
BT VXL ARB o ZLR R Y
30 FDOH (T AR N IEDRFELEA 1001 1,999 33,980 230,419 5,798 91,166 327,383 329,382 7
4FTOLD R PEDIREGMIZIRD., )
31 7 F L ROEDILEWY 192 27,736 473 473 665 120
32 7Ry 0 0 -
33 0 4,400 2 2 2| 262
3—AVTTFIAFIN—3, 5, 5—KJA
34 FNLa~F LI =AYV T F—h 0 98 3 3 3| 260
35 AT F LT ILTFER 0 0 -
36 AL 6,416 4,200 22,738 22,738 29,154 33
37t AT7 = /—/LA 0 1,498 32 32 32| 211
2,2 —{((V7uYF e R[(2, 6—
38 VT HE—4, 1-T==L) FF]) 0 0 -
VIH)—)v
39 7= F IRA 0 0 -
4072 F P —h 0 0 120 120 120 175
41 TN T =)L 0 0 154 154 154| 165
42/ 2—AIF VNV F A 0 8 2 2 2| 269
43 A IEV 0 0 -
44 AT LR OEDILEY 0 16 0 0 ol 289
45 T2 FF—)L 0 0 -
46 ¥ aky ST L 0 0 -
47 T HIRA 0 0 80 80 80| 189
48 EPN 48 0 48[ 198
49 AT Y AZY 0 0 4,490 4,490 4,490 67
50 €Y Fx—h 0 0 48 48 48[ 199
51 2— T F L~FH iR 0 193 15 15 15| 232




Al 4

WE WA, Je (N PR - Jea (RSN HEH] SRR
FH PEHH & B XBER xR FE S /NEE BEtE | NEAE

52\ 7 F7=HNT 0 0 -
53 ZF LR P 644,201 256,338 184,187 438,832 36,586 128,171 787,776 1,431,977 3
54 FRAF T —h 0 0 2,513 2,513 2,513 81
55 =F LA 0 0 -
56 =FL L AFUR 6,405 210 1,338 1,338 7,744 54
57 = FL o/ Ya—LE /) TF)LT—F /L 1,021 7 3,819 50 3,869 4,890 66
58 =F LS Ya— LE ) AF LT —TF )L 5,268 9,502 162 162 5,430 62
59 = FLLVTIL 47 549 0 0 471 200
60 =F LTI DURERE 0 80 5,616 34 5,650 5,650 61
61~ 37 0 0 450 450 450| 132
62 v ats 0 0 8,850 8,850 8,850 51
63 V77T IR 0 0 786 786 786 115
64 “h7xL Ty IR 0 0 362 49 411 411|137
65 T /bRy 15 0 0 0 15 231
661, 2—TRF T H 18 0 18] 226
672, 3—TARFT—1—Fm3 ) — L 1 0 1| 217
68 iE{k 7 mEL 6,340 0 0 0 6,340 59
69 2, 3—TRF T u /=7 =)L — 0 0 B

TV

T AT U Blal BEME K T~ A
10 ) 70 Blb2e AR R A 0 0 18 0 18 18] 224
71 A 8k 7 9,504 2 2 9] 243
79 HAE T T 42 (RFHALONPEH13ET 0 0 B

DHLO R PEDREWRD, )
13 1—F2%)—)L 0 12 1 1 1| 279
T4 INT—=FTF N Tz /)—)v 0 54 -
5 BRIV LK RZDLAEY 4 19 102 102 106] 179
16 A7 ay —hTaFIH N 730 170,000 0 0 730 117
T NI BT IR 0 0 -
782, 4—F L )—)L 0 0 -
792, 6—FTL/)—)L 0 0 -
80 F L 1,205,639 784,263 291,113 1,067,703 44,545 494,735 1,898,096 3,103,734 2
81 % /) 0 0 0 0 of 300
82 R M O F D KIENEAL AW 14 99 192 192 206 158
83 A 261 1,913 2,635 2 2,148 4,786 5,047 64
84| 7 VA ¥ — /L 0 24 -
85 J VA ILT ILFER 0 20 44 44 44 202
86 /L — /L 180 279 0 91 230 321 501 126
87 /u bk O =Ali7aMbE M 546 615,102 303 0 304 850| 109
88 Afliza ML 896 10,355 3 148 152 1,047 104
89 ymm 7 =Y 1 38 1| 278
90 7TV 0 0 127 127 127 172
91> TFHTr 0 0 230 230 230|154
92 ML 7 2L ETR 0 0 243 243 243|150
93 ANTZm—)v 0 0 833 833 833| 111
94 ¥ifkE =1 7,602 0 2 2 7,604 55
95 T NLTVF A 0 0 672 58 730 730 118
96 Y7z /) — )b 0 0 108 0 109 109 178
97|1—27na—2— (FaaAF L) P 0 0 -
98| 7 iR 0 0 -
99 7l F /L 0 0 -
100 FLFF77u—)1 0 0 191 191 191] 159




Al 4

L7k W4 e = - i e Jea (RSN HEH] SRR

F5 PEHIR BEE | NBEW ENGERE T 8 (K /NEE PEHR | NEGAL
101 75 7m—/L 0 0 129 129 129] 171
102/ 1—2un—2, 4—Y=fa~r ¥ 0 0 -
103/ HCFC—142b 0 0 2,736 1,433 11,395 15,564 15,564] 38
104 HCFC—22 4,360 20| 62,036] 153,015 13,865 228,916 233,276 13
105 HCFC—124 0 0 -
106/ HCFC—133 0 0 -
107/ CFC—13 0 0 -
108 A2 oy 0 0 1,903 1,903 1,903 85
109 A/ —Znubxzy 0 0 -
110|/XF7 —7uuhlLo 0 0 -
111|2—Zan—4—=pfar7 =y 0 0 -
112/ 2—7up=fa ¥ 0 0 -
113 v~y 3 0 65 35 100 103[ 181
14 AZ )77 0 0 -
115 7 =2 bFHFIR 0 0 15 15 15| 233
116 ~F L F TV IR 0 0 -
177 7ar/—n 0 0 441 441 441|133
118 /74 =1 0 0 37 1 38 38| 207
119 7=r7aty—n 0 0 22 22 22| 222
120/ A/ b—vanarx /—)v 0 0 -
12135 — a7z )—)L 0 0 -
122 2—7nu/ o4 g 0 0 -
123 k7L 12,000 9,800 12,000 43
124|73vmy 0 0 -
125 7aR~u Py 0 6,505 556 147 703 703|119
126/ CFC—115 0 0 -
127 7oL A 3,216 66,193 2,372 802 4,277 7,450 10,666] 47
128 HifbAF L 145,600 0 145,600 16
129/ 4—/un—3—AF )L 7z /)—)b 0 145 -
130/ MCP 0 0 -
131 3—/nn—2—AF )L —1—Fr< 8,200 0 8,200/ 53
132 2\ VRO ZEDILEY) 13 8,731 836 0 0 836 849 110

N M1 - —
133 ;?;i{): NVESETNEST I 3,314 21| 3232 3,232 6,546| 58
134 FEfgE =L 9,724 106,777 455 1,066 94 1,615 11,339 45
TF LT Ya— L] ) AF )L T—T )b B
135 L2 0 400
136 Y UF /LT LT ER 0 0 -
137> 73K 0 6,000 10 10 10| 238
138 Y7as Avk 0 0 -
139 RS mARY 0 0 4 90 94 94| 185
140 7 = 73Ky 0 0 62 33 95 95| 184
41 vEF Y =v 0 0 30 30 30 214
1422, 4—T)T7=J—) 0 0 -
143/4, 4 =7V 7 2=)L=—F )L 0 0 -
AHEFAE ~ PAN St R S i

144 ig?@?/)m A (B R O 7 B, 606 2,027 233 1,037 1,270 1,876 87
145 2— (P =FATI) =X )— )b 2 3 2| 265
146 EVIRAAF L 0 0 -




Al 4

L7k WA, Je (N PR - Jea (RSN HEH] SRR

FH PEHH & B XBER xR FE S /NEE PEa: [ Efr
47 FH_ N7 16 0 48 48 64] 192
148 H 7 x> Ah— L 0 0 459 459 459] 129
149 MUk 37 242 11,000 1 1 243 151
1501, 4— A ¥4 3,820 61,381 159 159 3,979 70
1511, 3—UFXVI 62 3,700 62| 193
152/ W Bo 7 0 0 812 812 812| 113
153 ThF AR 0 0 23 2,620 2,643 2,643 80
154 > 7a~F LTI 0 75 0 0 0| 285
155 N— (7 ~"FF4) 74 A3IK 0 1,002 6 6 6| 253
156 7aar7 =1 0 0 -
1571, 2—Y7nnx gy 653 36 148 148 801| 114
158 ke =V7 16 0 16| 230
159 v A—1, 2—Y/unxFL o 32 0 32| 210

3,3 —vsun—4,4 -7V 7
160 20 % e 0 239 o 287
161/ CFC—12 0 0 5,758 1,708 11,378 5,311 24,155 24,155 35
162 7 aE IR 0 0 1,692 1,692 1,692 91
163/CFC—114 0 0 -
164 HCFC—123 0 0 2,104 4,845 6,949 6,949 56
1652, 4—> /Ly 0 0 -
1661, 2—>7un—4— =k~ ¥ 0 0 -
1671, 4—Y7an—2—=fa~_ ¥ 0 0 -
168 A7 0 0 413 413 413 136
169 Yy 0 90 1,408 45 1,453 1,453 94
170 7 hoa —v 0 0 0 0 0] 294
171 Faraty— 0 0 149 149 149| 167
172 4P otk 0 0 187 187 187 160
173 evra/ ) 0 0 -
174/ V== 0 0 53 53 53| 194
1752, 4—D 0 0 29 29 29| 216
176 HCFC—141b 0 0 9,121 3,544 28,191 40,855 40,855 31
177 HCFC—21 0 0 -
178/1, 2—Yrmnrm/ v 0 0 92 92 92| 186
179 D—D 2 0 235,803 235,803 235,804 12
180/3, 3’ —Y /L PV 0 0 -
181 vrap_ P 0 3,300 228 217| 460,241 460,686 460,686 5
182 T/ ¥ T2 0 0 -
183 7/ L —h 0 0 -
184/ P rm~_=)L 0 0 541 541 541 124
185 HCFC —225 6,477 1,280 54,889 54,889 61,366 25
186 HEfbATF L 161,614 172,655 96,543 96,543 258,157 10
1871 F T /v 0 0 84 84 84| 188
188N, N—I 2 7u~F i L7y 320 11,761 320 144
189/ N> N—I v 7uaFig—2—~_u /' F 0 0 B
TSIV ZNT =T IR

190 v rmL BTy 1,891 169 1,891 86
191 A4y FuFFo 0 0 12 12 12 236
192/ =F 4T xR A 0 0 -
193| =F )V TFF AR 0 0 -




Al 4

Wz W4 JmHPEN R - B E Je AR 2R
F5 PEH BEE | NBEW ENGERE T B#hik /NEt HEHE | NEAr
194 ARHm 0 0 -
195 FaF kR 0 0 50 50 50( 197
196| AFH# F A 0 0 948 948 948 108
197 =5V 0 0 760 760 760 116
198 P AT —] 0 0 -
199 CIZ /AL 2 & 1260 0 0 -
200/ =hahL 0 0 -
2012, 4—Y=ha7=/—/L 0 0 -
202/ =)L~ B 0 50 -
2037 =TI 0 110 1 1 1| 276
204| V7 =)L =—F )L 0 5,800 -
2051, 3— VT 2= AT T =D 0 1,416 -
206 LR AN T 7 0 0 6 6 6| 251
NI > N J——7 —A—
207 i’\/?_/f YR T TN AT 920 304 5 26 114 146 1,066| 103
NS ~ N 19— —
208 /21/ 4= ==X =T FNT=) 0 0 _
209 T T IOn AR 0 0 1,641 191 911 2,743 2,743 78
2102, 2— V7 BE—2—3 T )T ERTIF 0 10 -
211/~ —2402 0 0 -
212/ 77 =—h 0 0 1,114 1,174 2,289 2,289 82
213N, N—PAF LT ERTIR 1,223 136,659 546 546 1,769 89
2142, A—AF AT =Y 0 0 -
2152, 6= AF LT = 0 0 -
216N, N—IAF LT = 59 3,067 79 79 138] 169
217 F AT IF A 0 0 375 375 375|139
218 PAF T I 4 3,000 7 7 11| 237
219 P AF I 2T 4R 0 0 -
220| P AF N F A INNIBED KRR 0 0 -
221\ XTI HNT 0 0 284 284 284 147
222\ 7 = )FAINT 0 0 -
223N, N—VAFVRETF LN T 0 0 -
224 i;j}?”‘ﬁwrﬂi;/:l\l_j 0 1,108 1,103 898 10,935 12,936 12,936 42
225 P 7oL Ry 0 0 213 213 213 157
2261, 1= AF)LERT TV 0 0 -
2277352 —h 0 0 495 495 495 127
998 3,3 —UAF N T —4, 4" = 0 0 B
AN=UAVT F—h
229 F AT 7 F—hAF L 0 0 1,260 0 1,260 1,260 98
N—(1, 3= AF LT F)) =N’ — B
205 oL 5T DTS 0 12,590
231 AV b =R 0 0 -
232N, N—UAF L /L LT IR 726 55,646 47,452 47,452 48,178 29
233/ 7z hm—h 0 0 150 150 150| 166
234| BFE 248 85 1 1 249 149
235| HL D KIENEH 0 19,009 0 0 of 299
236/ TAAF =)L 0 0 -
237 KER K O DALE Y 10 0 148 148 158 164
238 KFLT VT ==L 120 0 120] 176




Al 4

L7k WA, Je (N PR - Jea (RSN HEH] SRR
FH HEH B XBER xR FE S /NEE PEa: [ Efr
239 HEEA LA W 401 1,414 3 3 404 138
240 AF L 30,797 368,318 7,026 1,960 0 34,553 43,539 74,336 23
941 2—ANHFNFXY T AU B —1— ATV 0 0 B
T AT VSR L
242/ L B DL AW 29 360 130 130 159 163
243| FAAF U 4,147 109,536 649 269 3 44 965 5,111 63
244/ 5 Ay b 0 0 11,767 11,767 11,767 44
245 FA KRR 0 1,740 8 8 8| 245
246| FF 7=/ —I 0 0 -
247\ €7 7akA 0 0 -
248\ FAT Y ) 0 0 3,984 3,984 3,984 69
249 7L YR A 0 0 6 6 6| 252
250/ A/ F¥ Y F A 0 0 1,492 1,492 1,492 93
251| 7 x=paF A 0 0 2,078 1,163 3,241 3,241 72
252| 7= F A 0 0 206 27 233 233|153
253| 7B 7 = JARA 0 0 -
254/ A7 TR RA 0 0 17 17 17| 227
255| F T BEY T 2o L —T L 450 80,000 1 1 451 131
256\ 7 1 ER 16 54 13 13 28| 218
257|501 /) —v 0 98 0 0 0| 293
258 ~F Y AT LTI 100 359 2 322 324 424 135
259| AN T 4T L 0 54 3 3 3 259
260/ 7onfo=/,1 0 2,600 1,475 749 2,224 2,224 83
261 7HIAK 0 0 -
262| 7o /anTF L 52,314 30,700 7,850 7,850 60,164 26
263|CFC—112 0 0 -
2, 3,5, 6—7hFrER—RTF—0/
2643 0 0 0
265\ 7 hTER AT LK T 2LV ER 10 36,550 10 240
26677 /L) 0 0 452 452 452|130
267\ F A HNT 0 0 474 474 474 128
268/ 77 L 5 558 3 220 223 228| 155
269|117 th—/v 0 0 -
270/ F L7 2Lk 0 1,206 0 0 of 298
211 TV 7 HNEEY AF )L 0 401 -
272| SRR (BhHE A RS, ) 5,197 71,325 612 12 624 5,820 60
273 NV~ /L —RF LT a—)L 110 1,029 1 15 15 126] 173
214\ F—v %V —RT HFA—)L 26 0 26] 220
275 K7 S VAR R D 2 426 24,109 57,317 448 30,137 87,902 88,328 21
276/ ThT=F Lo~ H3 100 30 3 3 103[ 180
277N = F T3 351 28,790 2,458 2,458 2,809 76
278 N = F LT hI3 45 23 117 117 162 161
2791, 1, 1—KN)yonx gy 2 0 2| 266
280/1, 1, 2—RFJZ/mrnTHy 9 1,600 9] 241
281 Nz F L 38,773 4,684 26,572 26,572 65,345 24
282| N 7 kR 0 0 13 13 13| 235
2832, 4, 6— K zrur—1, 3, 5—FT7 T 0 0 -
284/CFC—113 0 0 -
285/ 7o’ sy 0 0 9,494 9,494 9,494 49
286/ N7t L 0 0 19 290 309 309| 145
287/2, 4, 6—N)yanr=z/—)v 0 3 -
288/ CFC—11 0 0 13,889 3,047 24,239 41,175 41,175 30
289/1, 2, 3—N)zar7rm/ < 0 0 -
290 N~y 0 0 -
1, 3, 5—FJZ(2, 3—=ARFT 7 r’
291 V) —1, 3, 5—RNIT7Yr—2, 4, 6(1 0 0 -
H, 3H, 5H) —FJA4v
292 N7 F LTI 0 0 -
293 NU7 LY 0 0 354 354 354 143
294/2, 4, 6— N7 BETx/—)V 0 0 -
2953, 5, 5—hIAF )L —1—~FH%/—/)L 0 0 -
296/1, 2, 4—RJAF LB 51,639 69,911 62,629 736 1,364 61,092 125,821 177,460 15
2971, 3, 5— RN AF LB 30,486 20,671 25,363 161,439 6,679 46,554 240,035 270,521 9
298 NIL VAV T 2 —h 0 593 8 8 8| 244
299/ MLAY 0 60 -
300/ L 1,381,352 1,563,072 412,922 775,121 71,719]  865,072| 2,124,834| 3,506,186 1
301 pLELPoTI 1 49 1| 284
302 F7HL 14,346 2,158 5,635 40 6,480 487 12,641 26,987 34
1, 5—F 77X TIAN=AITT
303 Foh 0 0 -
304/ %R 32 1,451 0 0 32| 212
305/ k& 191 69,703 838 685 1,523 1,714 90




Al 4

WE WA, Je (N PR - Jea (RSN HEH] SRR
FH HEH B XBER xR FE S /NEE PEa: [ Efr
306] 7 ZUIVERA~FH AT LV 0 383 0 0 I 280
307 M bR by L a =0 0 0 -
308/ =v /)L 5 6,395 24 24 29 217
309 =y VL& 1,243 65,626 5,449 5,449 6,692 57
310| =R =R 0 0 -
311 ANV —=haT7=/—)L 0 0 -
32/ ANV h—=haT=J 0 0 -
313| =k Yty 0 0 -
314\ /3T —=paroa ¥ 0 0 -
315/ AV h—=baL Tz 0 0 -
316/ =fm~ P 0 0 2 2 2| 267
317/ =hm A% 0 0 0 0 0| 286
318 “fifk iR 0 0 2 2 2| 263
319 /)v=)v— )= )L T )La—) 0 0 -
320 /=T = /)— L 0 156 0 1 1 1| 274
321 N F VUM EW 10,700 7,013 487 487 11,187 46
5 —[N, N—tvZ2(2—TkvF /L A4F
TFN)TI] -2 —(2—TrE—4,
322 6—Y=ha7 = TYV) —4" — AhF 0 0 21 21 2223
VTN =UR
323| VAR 0 0 36 36 36| 208
394 1, S—E‘z[(g, 3—TRF T ) 0 B
FEFTINP
3254 0 0 1,188 1,188 1,188] 100
3267 T 0 0 _
397 1/ 2—bER(2—/mn7z=/L)ERTY 0 0 _
328/ YT 4 0 0 1 1 1| 273
329| ARV Jp— 3 A—h 0 75 3,927 3,927 3,927 71
ER(1—AFNV—1—Tz=LTF))
330 205 e e 0 1 2 2 2| 264
331 A YRR 0 0 369 369 369| 140
332/ fitsE K O O R L5 187 889 55 55 242|152
333 kT 2 2,583 3 3 5 254
334|4—EREX 2 BHMAT IV 0 345 31 31 311 213
335|N— (4—tFe%s 7==L) T Er7IF 0 1,245 40 40 40| 205
336N ¥ 0 242 102 102 102|182
3B74—t =L —1—a~Ft 0 200,000 -
338/ 2— =LtV 0 0 -
339 N—t=/L—2—tmJF 0 130 -
340/ 7 ==L 8 0 8| 246
341|550 0 110 -
342/ vy 36 11,270 4 4 40| 206
343\ HTa—)L 9 3,000 9 242
344| 7 2= AT 0 0 -
345| 7 2= LR ST 0 0 -
346|2— 7 ==L 7= )—)L 0 0 1 1 1| 283
347 IN— 7 ==/L<L A3 0 0 -
348 7 x=L U7 0 0 -
349 7= ) — /)L 9,733 4,139 165 165 9,898 48
350 ~YL AR 0 0 454 194 648 648 121
3511, 3—7 &Yz 20,966 510 502 3,057 34,178 37,737 58,703 27
352| 7 HILEEU T UL 0 530 -
353 7 HVERY = F )L 0 1,400 -
354| 7 HNRY — )L~ —TF )L 0 10,611 18 595 613 613 122
355 7 HNRE A (2— = F )L~F L) 333 64,907 617 617 951 107
356 7 H)VER )L~ — T F L =_D )L 0 166 1 1 1| 271
3577 T 0 0 60 65 125 125 174
358/ 77 7= VR 0 0 -
V=)L —TF ) —2, 3—TIRF 1
359 L 4 4,783 4 257
360/~ /L 0 0 550 550 550 123
361> \aky 7T F )L 0 0 100 100 100] 183
362 VT 7= Fym 0 0 -
363 AF YT 0 0 8 8 8| 247
364/ 7 = mF AR 0 0 29 17 46 46| 201




Al 4

WE WA, Je (N PR - Jea (RSN HEH] SRR
FH HEH B XBER xR FE S /NEE PEti & | NEAE
365 BHA 0 1,100 -
366/ % — ¥ — 7 F /L =bLRa LAF R 0 0 -
367 AN =N ANV —TF N Tz )—)b 0 0 -
368/4—F— ¥V —TFNTx/)—/L 0 136 0 0 0 291
369 71 ULE R 0 0 357 357 357| 142
370 EYZ N 0 0 40 40 40| 203
37|77 7= TR 0 0 10 10 10 239
N—(F—=¥)=TFN) —2—~
32 g7y AT 7R 0 2,154 ! ! o
> 1—— 5
373 i_i ¥ —TFI—5—AF )N T = 0 0 B
374| 5o Al B O DK PEE 111,107 65,641 34,264 34,264 145,371 17
3752— 7T F—)v 0 0 -
376| 7% ra—L 0 0 17 17 17| 228
37775 0 0 -
378| Frr R 0 0 3,080 3,080 3,080 73
379|2— 7L —1—F—1 0 0 -
380/ Nm—1211 0 0 -
381| 7 EEY /Hm A 0 0 846 291 1,534 2,670 2,670 79
382/ /" —1301 0 0 208 91 299 299| 146
383 7 mwi L 0 0 1,792 1,792 1,792 88
384|1— 7T mES 54,440 8,482 21,517 21,517 75,957 22
385/ 2— 7 mES sl 0 0 -
386 RALATF L 1,870 0 15,685 15,685 17,555 37
387 M7 =2 T H AR 0 0 -
388 = RAR LT 7 0 0 -
=2 1 M = =
389 ;;?7/”’“7(%”7/%*¢A 7 0 0 899 148 374 1,421 1,421 96
390 ~FYAFL VT 0 0 -
391 AFHAFL U =UA VLT R—h 0 267 1 1 1| 275
392 /L)L — ~FH 1,003,868 222,818 83,933 9,772 1,886/ 171,350 266,942 1,270,810 4
393| _FFTh—)v 0 560 -
394 YUY LR NEDLEY 0 0 23 23 23 221
395~V AR T RRB O KAV 0 1,109 6 6 6| 249
396/ PFOS 0 0 -
397 XU =Rl R 0 0 -
398 Mk~ v 0 0 -
399| XU AT L FER 0 0 0 276 13,536 13,812 13,812 41
400| B 33,115 481 5,266 7,308 2,497 230,587 245,659 278,774 8
1, 2, 4—_UBUNIVRAFRL, 2— B
401 4y K 0 180
402| A7 =F vk 0 0 4 4 4| 258
403y T 0 0 0 0 0| 295
404| v Frma 7 ) —)v 0 0 -
405135 FLEY 88,873 41,203 41,770 1,263 51 43,084 131,957 19
406 PCB 1 6,600 1l 281
R (X oFLo) =T LFLo—T
407\ v (T LRIV EDRFEFD12/515F 184 73,099| 103,430 47,069 243,057 393,556 393,740 6
TOLD M FDIREWITIES, )
R (AFLmFLy)=F7F LT =
408 2 0 6,525 241 572 196 1,009 1,009] 106
R (¥ oFLy)=RFvLo—F
409 RS AT LR 0 27,140 88,364 6,034 42,109 136,507 136,507 18
R 3 N=)= =
410 i_)_(ifi/I?‘//) SN == 0 16| 6401 7,027 614 14,042 14,042 40
411 RNV LT VTER 14,943 33,136 7,844 6,372 3,763 212,284 230,262 245,205 11
412|~2 H ROZEDILE Y 36,420 707,413 155 155 36,575 32
413K 7 Z VIR 160 111,935 1 1 161] 162
414 Kk~ LA 1R 1,039 2,586 4 4 1,042| 105
415\ AZ 7V VIR 260 36,862 100 100 360 141
416| AZ VY VFE2 — =F )L ~F )L 0 596 -
LT AZTINVEE2, 3— TARF L T ut L 18 730 18] 225
A8 AXIYNVIE2 — (P AF NT ) =F )b 0 5 0 0 0] 288
419\ AR TVNVE )V~ )L — T F )L 0 1,017 -
420\ AZ 7V )VER AT )L 20,053 5,920 1,810 798 0 2,608 22,661 36
4121|14—AF VT oA FRH L —2—F 0 0 -




Al 4

WE WA, Je (N PR - Jea (RSN HEH] SRR
FH HEH B XBER xR FE S /NEE PEti & | NEAE
422[7 =V 0 0 30 30 30 215
423\ AF LTI 0 0 0 0 0| 296
4124 AF V=AYV F AT F—h 0 0 2,880 2,880 2,880 74
425|107 ahT 0 0 -
426\ HIVIR T T 0 0 -
427\ IRy L 0 0 260 928 1,188 1,188 101
428/ 7= )T TINT 0 0 872 318 1,191 1,191 99
429\ a2 LT EL AT )L 0 0 76 76 76| 191
430/ A REHY LT 0 0 8 8 8| 248
4317V ¥ Abae 0 0 1,572 1,572 1,572 92
432\ 7IFT R 0 0 40 40 40| 204
433 H— 34 0 0 50 50 50| 196
434 A XYL 0 0 27 27 271 219
435\ BV R I AF )L 0 0 91 91 91| 187
436| TV T 7 —AF VAT L 434 0 434 134
437|3—AF NN F AT/ F—)L 0 0 -
438| AFNFTHL 1,224 74 24 48 2 74 1,298 97
439|3—AF YT 0 0 -
1—AF NV —1—7=z==/)L=F/)L=ERn
440 o e e 0 0 0 0 0] 292
2—(1—AF)L7mL L) —4, 6—T=h _
Moo 0 0 0
442\ A7 =1 0 0 120 120 120 177
443\ A3 0 0 1,132 1,132 1,132| 102
444\ )7 aF L AREE 0 0 33 33 33 209
445\ 7L I F L DAF )V 0 0 538 538 538| 125
446\4, 4’ —AFL VT =) 0 36 -
ga7 ATV VEA@, 1= rmaF L Ly) 0 0 _
=UAIVT F—h
AFLUER(4, 1—Tx=Ly) =AY
4480 5T 19 6,474 60 60 79| 190
449\ 7 = AT AT 7 I 0 0 -
450 VT FANT 0 0 -
451|2—AFL —5—AF LT = 0 0 -
452|2— ANV T WU F T — )b 0 202 1 1 1l 270
453 V7T R OZEDILEW 3,194 222,491 1,204 1,204 4,398 68
- SIS S =
454 /21/ (FENR) )T A) X F T 0 5 0 0 ol 290
455/ /KR 6 1,888 133 133 139] 168
456/ D AALT L= A 0 0 831 831 831 112
457| V7R A 0 0 2,135 616 2,751 2,751 77
458 D AFERY A (2— TF )L~ L) 0 0 -
459 W BN A (2—Zaa = L) 0 0 5 5 5 255
460 W ABERY YV 1 2,353 16 16 17] 229
461V ABRN) 7 ==L 0 10,524 14 14 14| 234
462 WABEN) — IV~ —T F ) 0 0 -




